

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: June 16, 2025

Progress Estimate Number 2	Contract ID Prime Contra		20-B01 uder Paving, LLC		eriod Start eriod End	June 2, 202 June 15, 20	25	Original Contract Amount Net Change Order Amount Current Contract Amount	\$4,851,706.64 \$0.00 \$4,851,706.64		
Approval Date									By User		
June 16, 2025			Generated and	d Approve	d (and shoul	d be considere	ed Dra	aft) at the Project Office Level by	gardb1		
June 17, 2025			Reviewed and App	roved (an	d should be	considered Dra	aft) at	the Resident Engineer Level by	lincom		
June 18, 2025				Reviewe	ed and Appro	ved at the Cer	ntral C	Office Controllers Office Level by	ramses1		
Original Completion	on Date	Current Co	ompletion Date	Ac	tual Comple	tion Date		% of Current Contract Amount	Amount Complete		
October 1, 20	25	Octob	per 1, 2025					90.79%	79%		
	Cor	ntract Informat	tional Dates					Milestones	S		
Date Description	Original Cor	mpletion Date	Current Completi	ion Date		No Miles	tones	Exist for Contract			
Acceptance Date											
Awarded Date	October 2, 20	024	October 2, 2024								
Letting Date	September 2	20, 2024	September 20, 202	24							
Notice to Proceed Date	November 4,	, 2024	November 4, 2024	ŀ							
Work Began Date											

Contract Total Pa	Contract Total Pay For Estimate No. 2									
		This Estimate	Previous	To Date						
240920-B01	Total Doots d House Door	ΦΩ 747 454 74	Φ4 CE7 42C 04	\$4.404.000.7F						
	Total Posted Items Pay Gross Item Adjustments	\$2,747,454.74 (\$3,337.63)	\$1,657,436.01 (\$376.88)	\$4,404,890.75 (\$3,714.51)						
	Incentive	\$0.00	\$0.00	\$0.00						
	Disincentive	\$0.00	\$0.00	\$0.00						
	Liquidated Damage Other Contract Adjustments	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00						
	Other Contract Adjustments	ψ0.00	\$1,657,059.13	\$4,401,176.24						
Contract Total Pa	ayable This Estimate:	\$2,744,117.11								

Contract Total	Payable This	s Estimate:	\$2,744,TT7.TT				
tems Paid This	Estimate Pe	<u>riod</u>					
Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JNE0032	0010	4091048	EMULSIFIED ASPHALT, SEAL COAT	GAL	\$2.490	30,260	\$75,347.40
	0020	4094002	SEAL COAT AGGREGATE, GRADE A2	SQYD	\$1.200	108,068	\$129,681.60
	0040	6169901	MISC.LUMP SUMP TEMPORARY TRAFFIC CONTROL	LS	\$9,699.060	0.950	\$9,214.11
	0050	6181000	MOBILIZATION	LS	\$144,550.000	1	\$144,550.00
Project JNE00	32 - Total						\$358,793.11
JNE0033	0800	2022010	REMOVAL OF IMPROVEMENTS	LS	\$10,793.080	1	\$10,793.08
	0120	3105002	GRAVEL (A) OR CRUSHED STONE (B)	TONS	\$109.560	238.990	\$26,183.74
	0130	4010101	8 INCHES, BITUMINOUS PAVEMENT	SQYD	\$102.990	230	\$23,687.70
	0140	4011231	BITUMINOUS PAVEMENT MIXTURE PG58-28H, (BP-1)	TONS	\$82.650	19,263.740	\$1,592,148.11
	0150	4071007	TACK COAT - NON-TRACKING	GAL	\$3.500	12,622	\$44,177.00
	0160	6169901	MISC.TEMPORARY TRAFFIC CONTROL	LS	\$20,000.000	0.250	\$5,000.00
	0170	6181000	MOBILIZATION	LS	\$80,730.000	0.250	\$20,182.50
Project JNE00	33 - Total						\$1,722,172.13
JNE0037	0280	4091048	EMULSIFIED ASPHALT, SEAL COAT	GAL	\$2.490	85,679	\$213,340.71
	0290	4094002	SEAL COAT AGGREGATE, GRADE A2	SQYD	\$0.840	313,199	\$263,087.16
	0300	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	LS	\$13,138.560	0.950	\$12,481.63
	0310	6181000	MOBILIZATION	LS	\$177,580.000	1	\$177,580.00
Project JNE00	37 - Total						\$666,489.50
Overall - Total							\$2,747,454.74
Contract Adjus	tments This E	<u>Estimate</u>					

Revision 5/29/2025 Page 1 of 8



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: June 16, 2025

Progress
Estimate Number
2Contract ID
Prime Contractor240920-B01
Magruder Paving, LLCPay Period Start
Pay Period EndJune 2, 2025
June 15, 2025Original Contract Amount
Net Change Order Amount
Current Contract Amount\$4,851,706.64

No Contract Adjustments Exist on Contract

roject umber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
E0033	0120	GRAVEL (A) OR CRUSHED STONE (B)	238.99000	\$109.56	\$26,183.74			
	0120	GRAVEL (A) OR CRUSHED STONE (B)	Material			-238.99000	\$109.56	(\$26,183.74
	0130	8 INCHES, BITUMINOUS PAVEMENT	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	230	(\$0.33)	(\$75.60
	0140	BITUMINOUS PAVEMENT MIXTURE PG58-28H, (BP-1)	Other Item Adjustment	Asphalt Cement Price Adjustment	Asphalt Cement Price Adjustment for Est. #0002.			\$11,127.97
	0140	BITUMINOUS PAVEMENT MIXTURE PG58-28H, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	720.08000	(\$0.75)	(\$537.90
	0140	BITUMINOUS PAVEMENT MIXTURE PG58-28H, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,657.17000	(\$0.75)	(\$1,237.91
	0140	BITUMINOUS PAVEMENT MIXTURE PG58-28H, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,775.64000	(\$0.75)	(\$1,326.40
	0140	BITUMINOUS PAVEMENT MIXTURE PG58-28H, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,011.14000	(\$0.75)	(\$1,502.32
	0140	BITUMINOUS PAVEMENT MIXTURE PG58-28H, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,210.36000	(\$0.75)	(\$1,651.14
	0140	BITUMINOUS PAVEMENT MIXTURE PG58-28H, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,540.03000	(\$0.75)	(\$1,897.40
	0140	BITUMINOUS PAVEMENT MIXTURE PG58-28H, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,540.14000	(\$0.75)	(\$1,897.48
	0140	BITUMINOUS PAVEMENT MIXTURE PG58-28H, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,802.44000	(\$0.75)	(\$2,093.42
	0140	BITUMINOUS PAVEMENT MIXTURE PG58-28H, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	3,006.74000	(\$0.75)	(\$2,246.03

Revision 5/29/2025 Page 2 of 8



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Informa	ation						
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work								
JNE0032	FAF 15-1(19)	Seal coat	15	MONROE	from Route 154 north jun	ction to Route D near Paris							
JNE0033	FAF 15-1(20)	Resurface	15	AUDRAIN	from Route D to 1.1 mile north of Route 22 near Mexico								
JNE0037	FAS S203(35)	Seal coat	154	MONROE	from Route 24 at Paris to	0.04 mile west of Route 19							
Totals b	y Job Ni	umbers		'									
JNE0032		d Item Pay Item Adjustm		Item Pay	This Estimate \$358,793.11 \$0.00 \$358,793.11	Previous \$8,000.00 \$0.00 \$8,000.00	To Date \$366,793.11 \$0.00 \$366,793.11						
					\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00								
JNE0033		d Item Pay Item Adjustm		Item Pay	This Estimate \$1,722,172.13 (\$3,337.63) \$1,718,834.50	Previous \$1,649,436.01 (\$376.88) \$1,649,059.13	To Date \$3,371,608.14 (\$3,714.51) \$3,367,893.63						
	Liquid	tive centive lated Damages Contract Adju			\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00						
JNE0037		d Item Pay Item Adjustm		Item Pay	This Estimate \$666,489.50 \$0.00 \$666,489.50	Previous \$0.00 \$0.00 \$0.00	To Date \$666,489.50 \$0.00 \$666,489.50						
	Liquid	tive centive lated Damages Contract Adju			\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00						

Revision 5/29/2025 Page 3 of 8



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JNE0033, Item 3105002, Project Item Line Number 0120, Material Set 310500296, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	Need tickets for material reporting.	gardb1	Overridden

Revision 5/29/2025 Page 4 of 8



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Proj No		tegory	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POST To Date (See rep generated date
JNE0	000	01	0010	4091048	EMULSIFIED ASPHALT, SEAL COAT	30,260.00	0.00	30,260.00	GAL	30,260.00	\$2.49	\$75,34
	000	01	0020	4094002	SEAL COAT AGGREGATE, GRADE A2	108,068.00	0.00	108,068.00	SQYD	108,068.00	\$1.20	\$129,6
	000	01	0030	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	2.00	0.00	2.00	EA	2.00	\$4,000.00	\$8,0
	000	01	0040	6169901	MISC.LUMP SUMP TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.95	\$9,699.06	\$9,2
	000	01	0050	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$144,550.00	\$144,5
	000		0060	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	63,338.00	0.00	63,338.00	LF	0.00	\$0.12	,
	000	01	0070	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	39,469.00	0.00	39,469.00	LF	0.00	\$0.23	:
Proje	ct JNE00	32 - To	tal Value	Posted to D	ate as of Report Generated Date							\$366,7
JNE0	000	01	0800	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$10,793.08	\$10,7
	000	01	0090	2071000	LINEAR GRADING CLASS 1	2.80	0.00	2.80	STA	0.00	\$2,094.38	
	000	01	0100	2101006A	SUBGRADE COMPACTION (6-INCH DEPTH)	0.40	0.00	0.40	100F	0.00	\$1,391.06	
	000	01	0110	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	306.00	0.00	306.00	SQYD	0.00	\$14.84	
	000	01	0120	3105002	GRAVEL (A) OR CRUSHED STONE (B)	612.00	0.00	612.00	TONS	238.99	\$109.56	\$26,18
	000	01	0130	4010101	8 INCHES, BITUMINOUS PAVEMENT	306.00	0.00	306.00	SQYD	306.00	\$102.99	\$31,5
	000	01	0140	4011231	BITUMINOUS PAVEMENT MIXTURE PG58-28H, (BP-1)	39,706.60	0.00	39,706.60	TONS	39,333.90	\$82.65	\$3,250,94
	000	01	0150	4071007	TACK COAT - NON-TRACKING	26,404.00	0.00	26,404.00	GAL	25,025.00	\$3.50	\$87,5
	000	01	0160	6169901	MISC.TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.75	\$20,000.00	\$15,0
	000	01	0170	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$80,730.00	\$80,73
	000	01	0180	6191000	PAVEMENT EDGE TREATMENT	138.00	0.00	138.00	LF	0.00	\$6.70	
	000	01	0190	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	195,209.00	0.00	195,209.00	LF	0.00	\$0.12	
	000	01	0200	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	88,724.00	0.00	88,724.00	LF	0.00	\$0.23	
	000	01	0210	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	845.00	0.00	845.00	SQYD	845.00	\$9.25	\$7,8
	000	01	0220	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	8,903.00	0.00	8,903.00	SQYD	8,525.00	\$5.08	\$43,3
	000	01	0230	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	1,603.30	0.00	1,603.30	STA	0.00	\$20.49	
	000	01	0240	8059901	MISC.SEEDING AND MULCHING	1.00	0.00	1.00	LS	0.00	\$8,500.00	
	000	01	0250	8061006	ALTERNATE DITCH CHECK	60.00	0.00	60.00	LF	0.00	\$24.00	
	000	01	0260	8061016	SEDIMENT REMOVAL	6.00	0.00	6.00	CUYD	0.00	\$30.12	
	004	40	0270	9039902	MISC.REINSTALLING EXISTING SIGNS	1.00	0.00	1.00	EA	0.00	\$3,188.90	
Proje	ct JNE00	033 - To	tal Value	Posted to D	ate as of Report Generated Date							\$3,553,8
JNE0	000	01	0280	4091048	EMULSIFIED ASPHALT, SEAL COAT	87,700.00	0.00	87,700.00	GAL	85,679.00	\$2.49	\$213,3
	000	01	0290	4094002	SEAL COAT AGGREGATE, GRADE A2	313,199.00	0.00	313,199.00	SQYD	313,199.00	\$0.84	\$263,0
	000	01	0300	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.95	\$13,138.56	\$12,48
	000	01	0310	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$177,580.00	\$177,58
	000	01	0320	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	227,081.00	0.00	227,081.00	LF	0.00	\$0.12	,
	000	01	0330	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	126,721.00	0.00	126,721.00	LF	0.00	\$0.23	
Proje	ct JNE00	37 - To	tal Value	Posted to D	ate as of Report Generated Date							\$666,4
					of Report Generated Date							\$4,587,1

Revision 5/29/2025 Page 5 of 8



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JNE0032

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	4091048	EMULSIFIED ASPHALT, SEAL COAT	6/5/25	6/9/25	1	23,900.00	GAL	Route 15 North and South Bound Lanes	93.354		98.170		
			6/6/25	6/10/25	2	6,360.00	GAL	Route 15 North and South Bound Lanes	92.085		93.354		
0020	4094002	SEAL COAT AGGREGATE, GRADE A2	6/5/25	6/9/25	1	86,727.00	SQYD	Route 15 North and South Bound Lanes	93.354		98.170		
			6/6/25	6/10/25	2	21,341.00	SQYD	Route 15 North and South Bound Lanes	92.085		93.354		
0040	6169901	MISC.	6/13/25	6/16/25	1	0.95	LS		92.085				
0050	6181000	MOBILIZATION	6/13/25	6/16/25	1	1.00	LS	Route 15	92.085				

Project: JNE0033

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
080	2022010	REMOVAL OF IMPROVEMENTS	6/4/25	6/6/25	1	1.00	LS	Route 15 and County Road 355	115.451				
0120	3105002	GRAVEL (A) OR CRUSHED STONE (B)	6/9/25	6/11/25	1	127.55	TONS	Route 15	98.170		102.970		
			6/10/25	6/12/25	1	111.44	TONS	Route 15	102.970		111.240		
130	4010101	8 INCHES, BITUMINOUS PAVEMENT	6/4/25	6/6/25	1	230.00	SQYD	Co. Rd. 355	115.451				
140	4011231	BIT. PAVEMENT MIXTURE PG58-28H (BP-1)	6/2/25	6/3/25	8	3,006.74	TONS	Route 15 South Bound Lane	107.026		109.869		
			6/3/25	6/4/25	9	1,775.64	TONS	Route 15 North Bound Lane	106.103		107.764		
			6/4/25	6/6/25	10	720.08	TONS	Route 15 South Bound Lane	109.869		110.551		
			6/5/25	6/9/25	11	2,011.14	TONS	Route 15 South Bound Lane	107.764		109.694		
			6/6/25	6/10/25	12	1,657.17	TONS	Route 15 South Bound Lane	110.551		112.145		
			6/9/25	6/11/25	13	2,210.36	TONS	Route 15 North Bound Lane	109.694		111.727		
			6/10/25	6/12/25	14	2,540.03	TONS	Route 15 South Bound Lane	112.145		114.580		
			6/11/25	6/12/25	15	2,802.44	TONS	Route 15 North Bound Lane	111.727		114.431		
			6/12/25	6/13/25	16	2,540.14	TONS	Route 15 North/South Bound Lane	114.431		116.633		
150	4071007	TACK COAT - NON-TRACKING	6/2/25	6/3/25	8	1,786.00	GAL	Route 15 South Bound Lane	107.026		109.869		
			6/3/25	6/4/25	9	1,400.00	GAL	Route 15 North Bound Lane	106.103		107.764		
			6/4/25	6/6/25	10	483.00	GAL	Route 15 South Bound Lane	109.869		110.551		
			6/5/25	6/9/25	11	1,351.00	GAL	Route 15 South Bound Lane	107.764		109.694		
			6/6/25	6/10/25	12	1,014.00	GAL	Route 15 South Bound Lane	110.551		112.145		
			6/9/25	6/11/25	13	1,400.00	GAL	Route 15 North Bound Lane	109.694		111.727		
			6/10/25	6/12/25	14	1,689.00	GAL	Route 15 South Bound Lane	112.145		114.580		
			6/11/25	6/12/25	15	1,786.00	GAL	Route 15 North Bound Lane	111.727		114.431		
			6/12/25	6/13/25	16	1,713.00	GAL	Route 15 North/South Bound Lane	114.431		116.633		
160	6169901	MISC.	6/13/25	6/16/25	1	0.25	LS	Route 15	98.170				
170	6181000	MOBILIZATION	6/13/25	6/16/25	1	0.25	LS	Route 15	98.170				

Project: JNE0037

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0280	4091048	EMULSIFIED ASPHALT, SEAL COAT	6/6/25	6/10/25	1	5,008.00	GAL	West/East bound Lanes of Route 154	0.016		1.858		
			6/9/25	6/11/25	1	27,880.00	GAL	N/S Bound Lanes of Route 154	2.082		7.574		
			6/10/25	6/12/25	2	29,658.00	GAL	W-E Bound Lanes of Route 154	7.574		15.954		
			6/11/25	6/12/25	3	23,133.00	GAL	W-E Bound Lanes of Route 154	15.954		22.397		
0290	4094002	SEAL COAT AGGREGATE, GRADE A2	6/6/25	6/10/25	1	28,530.10	SQYD	West/East bound Lanes of Route 154	0.016		1.858		
			6/9/25	6/11/25	1	77,512.20	SQYD	N/S Bound Lanes of Route 154	2.082		7.574		
			6/10/25	6/12/25	2	163,421.60	SQYD	W-E Bound Lanes of Route 154	7.574		15.954		
			6/11/25	6/12/25	3	43,735.10	SQYD	W-E Bound Lanes of Route 154	15.954		22.397		
0300	6169901	MISC.	6/13/25	6/16/25	1	0.95	LS	Route 154	0.016				
0310	6181000	MOBILIZATION	6/13/25	6/16/25	1	1.00	LS	Route 154	0.016				

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025 Page 6 of 8





Line Item Adjustments by Estimate

Contract ID: 240920-B01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JNE0033	0120	GRAVEL (A) OR	Material		2	Jun 16, 2025	SYSTEM	(\$26,183.74)	
		CRUSHED STONE (B)			2	Jun 16, SYSTEM 2025		\$26,183.74	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user gardb1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0120 -	· Total						\$0.00	
	0130	8 INCHES, BITUMINOUS	Price FUEL		2	Jun 16, 2025	SYSTEM	(\$75.60)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
		PAVEMENT		- Total				(\$75.60)	
			Price FUEL	- Total				(\$75.60)	
	0130 -	Total	111001 022	Total				(\$75.60)	
							0)/07514		
	0140	40 BIT. PAVEMENT MIXTURE	Material		1	Jun 2, 2025	SYSTEM	(\$83,949.26)	
		PG58-28H (BP-1)			1	Jun 2, 2025	SYSTEM	\$83,949.26	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user gardb1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total					
			Material - To	otal				\$0.00	
			Other Item Adjustment	ACAD	1	Jun 2, 2025	gardb1	\$10,449.12	Asphalt Cement Price Adjustment for Second Period of May.
					2	Jun 16, 2025	gardb1	\$11,127.97	Asphalt Cement Price Adjustment for Est. #0002.
				ACAD - Tota	al			\$21,577.09	
			Other Item	Adjustment -	Total			\$21,577.09	
			Price FUEL		1	Jun 2, 2025	SYSTEM	(\$10,826.00)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					2	Jun 16, 2025	SYSTEM	(\$14,390.00)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$25,216.00)	
			Price FUEL	- Total				(\$25,216.00)	
	0140 -	· Total						(\$3,638.91)	
JNE0033 -	· Tota <u>l</u>							(\$3,714.51)	
Overall - 1	Total							(\$3,714.51)	
3.0.uii · I								(+0,. 1-1.01)	

MoDOT

Contract Adjustments for Contract - 240920-B01

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 8 of 8